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General Answer Format:

Each Sudoku has two marked rows or M
columns. You need to submit all digits

in the corresponding directions, from
left to right or from top to bottom.

In the example, the two answer keys

are:

1A: 367594218
1B: 283749165

All puzzles will use digits 1-9 in the

submission.
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1-6 Classic Sudoku
Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 3x3 box
contains each digit exactly once.

Example Solution
1]8] [2]4 5/971[86[2[4]7 3
6 9 1 36 7|5 9/4]|2]1 8
8 9 gl2 4|17/3]|6/5 9
1 9 8 5 6 1]3/2]9/8[5[71476
4] 3] 7] |8 6|4 5[3 1]/7]9l8 2
9 42 6 1 9/7 8|4 2/6]|5/3 1
7 4 715796 3]1[8/274
8 4 6 2183|7 4|/9]1]6 5
6|2 |8|3 411 6|2 5/8|3]|9 7
7 Odd/Even Sudoku

Apply classic sudoku rules. Digits in circles must be odd and digits in squares must be even.

Example Solution
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8 Serbian Frame Sudoku

Apply classic sudoku rules. The clues outside the rows indicate the sum of the digits to be placed in
the 2nd and 3rd cells in the corresponding direction. The clues outside the columns indicate the
sums of the digits to be placed in the 3rd and 4th cells in the corresponding direction.

Example Solution

3 9 6 12171610 9 8 3 9 6 12171610 9 8
11 10 1117/3/8|5(4|6|9|1|2]|10
13 12 13|64 |9|1(2|3]|5|7|8]|12
7 10 711/2|518|9|7]|4|6|3]|10
8 9 812/7/114|8|9|6|3|5]9
9 10 919(6/3|7|/5(1|2|8|4]10
12 10 1215/814]6(3|2]1]9]|7]10
12 5 1218 (5(7|9|1(4|13|2|6]|5
7 12 713/1/6|12|7|5|8[4|9/|12
11 7 12 1114/9/2]|3(6|8]|7]|5]|1]12

13131115 4 6 4 11 13 13131115 4 6 4 11 13

9 Outside Sudoku
Apply classic sudoku rules. Digits outside the grid must appear within the first three cells in the
corresponding direction.

Example Solution
' 2 2
4 1 6 3 4 1 6 3
9 3 8 7 5 1 7 9 3 8 7 5 1 7
46 3 46|41 6|8 5 9|2|3|7]3
38 46 38|18 3 5|2 1|7|19/4/6]|46
158 9 2 7|6 4 3|5|/1 8|158
1 | 3 117 519 8/6|4|23]|3
349 68 34913 9 4|7 2/ 5|8 6|1]|s68
68 59 68|26 8|4 3 1|7/5/9]|5¢9
579 57915 79|13 62|18 4
29 1 8 3|5 7/4|6/9/(2|29
4 35 416 /4 2|1 9|/8|3/7|5]35
1 7 9 3 2 1 7 2 1 7 9 3 2 1 7 2
4 8 4 8
8 8
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10 Rossini Sudoku

Apply classic sudoku rules. The arrows outside the grid indicate that the first three digits are in
ascending or descending order (the highest digit is at the point of the arrow). If there is no arrow
outside, the first three digits cannot be in either ascending or descending order.

Note: The answer key arrows are presented in a way that is clearly different to the Rossini arrows.
They have no impact on solving and are just to mark rows/columns for submission.

Example Solution
t11 t11
- 4 — —{1/2 3[4]/5 6|7 8 9]|—
- — —|7/8 9|12 3|4 5 6|—
- 9 — 45 6|78 912 3|—
3 — 91/ 2|34 5(6 7 8~
- — —(6/7 8[9 1 2(3 4 5|—
8 3 45|6/7 8(912
z — 89 1|2/3 4|5 6 7|~
- — 56 7|89 12 3 4|—
- 7 —|2/3 4[5/6 7|8 9 1
Pt t t1 1

11 Cloned Shapes Sudoku

Apply classic sudoku rules. Each shape is cloned, including the digits it contains, without rotating and
mirroring. The position of the digits inside each shape is fixed - the same digits have to be placed at
the same positions inside the identical shapes. A digit may appear more than once in a shape.

Example Solution
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12 Renban Sudoku
Apply classic sudoku rules. Digits placed in each shaded region must form a consecutive, non-
repeating set.

Example Solution
2 8 5 2/8[3]6 97 1[4
6 7 31|24 5|8 9|6
71 3 4 9 6|(7/18|253
1 98 74|13 2|1 6|5
3] 7 |4 6 5397 1|4 8|2
2 1 4 2(8/5 6|37 9
3 84 36 5(1/8/4|9 2|7
8 8 7 9|5/2/3|6 4|1
53 21 4|6/9 7|5 3|8

13 No Touch Irregular Skyscrapers Sudoku

Place a digit from 1-9 in each empty cell in the grid such that each row, column and marked 9-cell
region contains each digit exactly once. Equal digits must not touch each other diagonally. Each digit
represents the height of a building. The clues outside the grid indicate the number of buildings
visible from the corresponding direction. A taller building will hide any shorter buildings behind it.

Example Solution
3 5 3 5
2 8 3/9]7 2 1|4]5|6]8
4 9 712154/ 8/6[1]9]|3
4 6/8[1|3 5[9]|7]4|2]4
5|1 s[1]|5(4/7 6]3[2]8]9
9 ol3l6ls 2|5(al1]7
3|9 84|12 9 7|1/6|3]|5
5/713|1 4|8|9]2]6
1 211|8[69]7]3|5(4
312 1 4/6(9(5/3[2|8|7[1]|4
4 4 3 2 4 3 5 4 4 3 2 4 3 5
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14 Killer Hidden Arrows Sudoku

Apply classic sudoku rules. Digits placed in each marked cage must sum to the total given in its top-
left corner. Digits must not repeat in cages. All cages contain a standard arrow clue, which is hidden.
The circle part of the arrow will be at one end of the cage with the arrow extending along the cage to
the other end. The arrow must fill the entire cage. The circle may enclose any number of digits, and
multi-digit totals are read in the direction of the arrow.

Example Solution
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